CONTH T B AR

(N7 =& R\ =2 Lt
//F(\_F‘I 22”\“2653/ ERRLE!

s

SRR 224E3 A

FCH IR ZHNE T




I.IFZCHIZ

17 10

22

21

22

18



1)

2)

3)

4)

5)

10
10
11
11
12
12

13
13
13

14
14
15

15
16
16
16

17
17
17



IL.IZANETHZEERY E<IRIREEREE
| |

21 1 3 GDP A
15.2 30
2 60.1 20 44.3
22 40
18
21 22
22
22
20 21



22

22
17 18 19 20
(10 29,543 29,266 29,090 28,870
0.390 0.453 0.488 0.511
89.7 95.6 91.3 90.1
0 0
0 0
13.5 16.0 16.1 17.1
185.1 178.3
( (
)
H19
H20 13.53 20
16 25 20 H20 18.53

500

25

500

35

100

H19

30

0.49

11 25 15

16.9

350



I 1T =% B fEL-ERUA A A DB E

2
1)
2)
3)
4)
5)
1 2
21 22 23 24 25 26

-2-1 1 1 1 1 1 5

-2-2 197 1 1 1 3

-4 4 2 16 1 2 25

197 5 3 18 3 4 33

-1 671 89 139 188 269 350 1,035

-3-2 28 28 40 40 136

-1-6 104 1 1 2 4

-1-7 89 1 2 2 5

-1-6 47 1 1 2 2 6

436
1,347 89 168 219 314 396| 1,186
1,544 94 171 237 317 400] 1,219
21 1




VERMICRYHETIEHR

1)
21
( )
o 3
o H18 H27
43 1,016 )
o (H21
250 260
1 2
H17 H21 H22 H23 H24 H25 H26
4 327 294 283 277 271 261 251
1 )( 65 64 64 64 64
392 358 347 341 335 261 251
2 4 2 2 5 4 17
7 4 3 2 9
8 5 4 5 4 26
15 8 8 15 14 (8) 60
4 3 2 5 9
19 11 10 20 14 (8) 69
9 11 6 6 10 10 43
0 0 0
9 11 6 6 10 10 43
2 11 17 23 33 43 127
2 88 136 184 264 344 1,016
1 2
3 4
H26 5
( )2,560,913 + 320 8
21 6 H21 H23




392 358 367
24
25
SC
2
H22 H23 H24 H25 H26
PDCA
PDCA
PDCA
2 (
2
PDCA
PDCA Plan= Do= Check= Action=




H22

H23

H24

H25

H26

PDCA

PDCA




H22 H23 H24 H25 H26
>
o
o
o
o
o PDCA
o (0JT) (Off JT
o (
19 88
79
o
o
o )
2
H22 H23 H24 H25 H26
>
H20 >
1 2 1 1 1

10




H22

H23

H24

H25

H26

R

(ON

11




H22 H23 H24 H25 H26
1 1
—>
O
o 1969
o (H21 49/93 )
2
H22 H23 H24 H25 H26
( 70 )
O
2007 3
2010
2011

12




H22

H23

H24

H25

H26

2)

20

20

H22

H23

H24

H25

H26

H22

H23

H24

H25

H26

21

13




3)

H26

H25

H26

H24

H25

H23

H24

H22

H23

H22

14



> —
> —
>
> —
>
B&G >
>
28 12
H23 7 x8 ( 50 ) 28
25 3 x8 ( 50 ) 12
(@]
(@]
(@]
2
H22 H23 H24 H25 H26
>
4)
H21 22
2
H22 H23 [ H24 H25 H26
—
o 24 17
2
H22 H23 H24 H25 H26
—
12

15



> —
1 1
> —>
1 1
2 14
o 26 8
2
H22 H23 H24 H25 H26
>
1 1 1
>
1 1
2 2
o H26 10
2
H17 H21 H22 H23 H24 H25 [ H26
22 9 9 9 9 ( )
11 12 12 12 11 11 11
33 21 21 21 20 11 11
1/2 HP
2
H22 H23 H24 H25 H26
>
5)

16



H22 H23 H24 H25 H26
21
()
(

2

H22 H23 H24 H25 H26
2

H22 H23 H24 H25 H26

17




